z_
#F=4=8j
FUTIHEHEBESFXBITHIEE R

FUTREEFEBERERARE i 2025 4F 4 [ 30 H
FUTHEBEHFXRBIWERH D

RIS B 5 [BAK

——2025 F TUIEMF XN 24 B R i R TR SRR

ATFMEEZERQFT R L ERE, BaFLOFFETEA
FRMFER, BRI RERE, BARFARFTEHE £
M, AHEEAFAEEEESR, 4 F27H, 2025 FHEHF RN
F AR B G TR R R R SN EE F AR AT

BERME, 2K 12 NFEERE 103454 SRR
F, HopNFCBA (3-445) 48 4, NFEFHEA (5-6 FR)
554 . WERXRAERALE mEAMEENHA, Rt 60 248,
TEXRFANBEREE. ZARLE. HEEEROHEL,

X #HEAR T2 RBAEETHT, KT\EAT. AL, AFF
BN, RZFHANFHREA —SR84, —FX 124, =%

_1_

H
® )

~



RISA. MNFBBEA—SR84, —FR 44, ZFX1T4,

REL BT
2025 FHIBHX/NFEURRIERFREZZE (KE4H)
75 w44 PR T FH0m AT
1 il RN EE SRR i 4T —
2 B ST 4E BN X1V 34 —EH
3 )R R AT — K
4 Eignlh T L EE AL s —
5 e W A T L EE AL X1 B —
6 sk 5 SN T —EH
7 eI ik D AR sRAR G — W
8 2 B 7K R A EE AR i 4T — W
9 NS SIS N K 74
10 R & FNED RN RYETF 4
11 BT PN AN 2 RYEF 74
12 I PEINEE 2 TR
13 ¥ & RN EE SRR N —ER
14 MW 7ok g AR A AR
15 R PELNEE 2 e 4
16 B A G Ll /N T % AR
17 5K A RN EE AR W e T4
18 T AL SIS N U AR e 4
19 R R RN BN 74
20 AR SN 2=l B 74
21 TR RN XIJ 73 =5%
22 X % 1 RN BN =48
23 FHEE Rk RYETF =5%

!
v




24 R TSk N X ik F e
25 TFEEH RN B %N 34
26 X TEE RN NG =5%
27 7Rl AR A 2 A £l =&y
28 EEE i Rk /N RYETF =5%
29 R ES BRI N 2E RER =y
30 2 G AN RYEF 4
31 hRE SN XK =5
32 FERAT kN RYEF =&y
33 T R S /N oA =&
34 M Kk PEI N 2k o +4
35 A G N 7 34

2025 FRBHXNFEUERIZATFREZE (GEAH)

FF g 4 TR 15 SFHUR A1
1 Y &SN K] — iy
2 RS b T AL 14 R — &4y
3 Wi 3 b T AL A — &Ly
4 e S TRk /NE XS ik sty
5 LY RN Epail! —aER
6 A SR/ W ¥ Ay
7 XS 0 1 R Y 0 T Aty
8 DNt o N S 4
9 AT 2 G ik SRR AT sy
10 U BIRNF /. i 34
11 BT % TRk £ M 4
12 FRIARTL N N RYET 34




13 SR Ehidk /N RYETF 4
14 XIFEAT BRI T 24
15 ¥ 1 SN x|k o4
16 ARG ik AR Rl e 34
17 RIEE Ehid /N RYETF 24
18 Ji =5 & SN Jil S Ay 34
19 ZRYRT RN EERagll e 34
20 LY 3 BN S e 4
21 FASY | e/ (IS 3
22 RN e /NF S e 34
23 XI¥ESR PEI N 2t =W
24 ] 20 ik Tk B AL o e 34
25 KT Ehidk /N RYETF e 34
26 Wi J= it SN * FH 4
27 NS TR Sk N R EE e 34
28 ViR & N JE T e 34
29 TRIEE AN P 4
30 M B Ak XK =5
31 KA SR/ ] o e X4
32 H R BN m % I =W
33 PN 1E RN ERagll =W
34 ENEIEE BRI /N TNEE =W
35 RVAE BN gl =W
36 JE BT SEEG /N oo =R
37 SRV RSk N R EE e 34
38 L0 PHHL/N2E 2t e 4
39 AR PEINEE 28 e 34




